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ŸÊ◊Ê¢∑§ Roll No.
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No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010
SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ flª¸ I — ∑§‹Ê ( OPTIONAL GROUP I — ARTS )

‚◊Ê¡‡ÊÊù ó ÁmÃËÿ ¬òÊ
( SOCIOLOGY — Second Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚
„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 7 Ã∑§ ∑§ ©UûÊ⁄ ¬˝àÿ∑§U 20 ‡ÊéŒÙ¥ ‚, ¬˝‡Ÿ ‚¢ÅÿÊ 8 ‚ 11 Ã∑§ ∑§
©UûÊ⁄U ¬˝àÿ∑  50 ‡ÊéŒÙ¥ ‚, ¬˝‡Ÿ ‚¢ÅÿÊ 12 ‚ 21 Ã∑§ ∑§ ©UûÊ⁄U ¬˝àÿ∑  75 ‡ÊéŒÙ¥ ‚
ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ∑§ ©UûÊ⁄U ¬˝àÿ∑  200 ‡ÊéŒÙ¥ ‚ •Áœ∑§ Ÿ „UÙ –
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 Answers of Question Nos. 2 to 7 should not exceed 20 words

each, Question Nos. 8 to 11 should not exceed 50 words each,

Question Nos. 12 to 21 should not exceed 75 words each and

Question Nos. 22 to 24 should not exceed 200 words each.

6. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ
‚ÃÃ˜ Á‹π¥ –

For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in

continuity.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U
Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò ¥ U  – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥
ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each

part has four alternatives A, B, C and D. Write the letter of the

correct alternative in the answer-book at a place by making a

table as mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.      (i)

1.      (ii)

1.      (iii)

1.      (iv)
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1. (i) ©UÛÊË‚flË¥ ‡ÊÃÊéŒË ◊¥ ¡Ÿ‚¢ÅÿÊ ∑§Ë •÷ÍÃ¬Ífl¸ flÎÁh ∑§ ‚ÊÕ ¬Á⁄UflÊ⁄U ÁŸÿÊ¡Ÿ ∑§Ê Áfl∑§Ê‚

„ÈU•Ê – ÿ„U Á∑§‚Ÿ ∑§„UÊ ?

(•) ◊◊»§Ê«¸U (’) ‚Ê⁄UÊÁ∑§Ÿ

(‚) ∞0 ∑§0 ‚⁄UŸ (Œ) ◊Ò∑§Êßfl⁄U ∞fl¢ ¬¡ –

During 19th Century the growth of family planning took place

with unprecedented growth of population. Who said it ?

(A) Mumford (B) Sorokin

(C) A. K. Saran (D) MacIver and Page. 1
2 

(ii) ÷Ê⁄UÃ ∑§Ë ‚Ÿ˜ 2001 ¡ŸªáÊŸÊ ∑§ •ŸÈ‚Ê⁄U

(•) 1000 ¬ÈL§· ¬⁄U 733 ÁSòÊÿÊ° „Ò¥U

(’) 1000 ¬ÈL§· ¬⁄U 833 ÁSòÊÿÊ° „Ò¥U

(‚) 1000 ¬ÈL§· ¬⁄U 933 ÁSòÊÿÊ° „Ò¥U

(Œ) 1000 ¬ÈL§· ¬⁄U 1033 ÁSòÊÿÊ° „Ò¥U –

According to census of India 2001 there are

(A) 733 females per 1000 males

(B) 833 females per 1000 males

(C) 933 females per 1000 males

(D) 1033 females per 1000 males. 1
2 
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(iii) ¬˝∑§≈U ‚Ê◊ÊÁ¡∑§ ‚◊SÿÊ ∑§Ê ©UŒÊ„U⁄UáÊ „ÒU

(•) ÷˝c≈UÊøÊ⁄U (’) ’⁄UÊ¡ªÊ⁄UË

(‚) Œ„U¡ ¬˝ÕÊ (Œ) ’Ê‹ ÁflflÊ„U –

The example of overt social problem is

(A) corruption (B) unemployment

(C) dowry (D) child marriage. 1
2 

(iv) ‚Ê◊ÊÁ¡∑§ ‚◊SÿÊ

(•) ∞∑§ ‚◊Ê¡‡ÊÊSòÊËÿ •flœÊ⁄UáÊÊ „ÒU

(’) ∞∑§ •ÊÁÕ¸∑§ •flœÊ⁄UáÊÊ „ÒU

(‚) ∞∑§ √ÿÊfl‚ÊÁÿ∑§ •flœÊ⁄UáÊÊ „ÒU

(Œ) ∞∑§ flÒôÊÊÁŸ∑§ •flœÊ⁄UáÊÊ „ÒU –

Social problem

(A) is a sociological concept

(B) is an economic concept

(C) is an occupational concept

(D) is a scientific concept. 1
2 

2. ¬˝ÊÒlÊÁª∑§Ë ÄÿÊ „ÒU ?

What is technology ? 1

3. ÷Ê⁄UÃ ◊¥ ‚’‚ ÖÿÊŒÊ ¡Ÿ‚¢ÅÿÊ flÊ‹ Ÿª⁄U ∑§Ê ŸÊ◊ Á‹Áπ∞ –

Write the name of the most populated city of India. 1
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4. ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ∑§Ë ŒÊÔ Ÿß¸ ¬˝flÎÁûÊÿÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 

Name two new tendencies of social change. 1

5. ÁflÉÊÁ≈UÃ ‚◊Ê¡ Á∑§‚ ∑§„¥Uª ? 

What will be called as disorganised society ? 1

6. ‹ÊÒÁ∑§∑§Ë∑§⁄UáÊ ¬˝Á∑˝§ÿÊ ◊¥ ∑§’ ‚ ÃËfl˝ÃÊ •Êß¸ ?

When has the process of secularisation become intensive ? 1

7. ⁄UÊ¡SÕÊŸ ∑§Ë ∑È§‹ •Ê’ÊŒË ◊¥ •ŸÈ‚ÍÁøÃ ¡Ÿ¡ÊÁÃ ∑§Ê Á∑§ÃŸÊ ¬˝ÁÃ‡ÊÃ „ÒU ? 

What is the percentage of Scheduled Caste of total population of

Rajasthan ? 1

8. Áª‹Á¬Ÿ mÊ⁄UÊ ÷Í◊¢«U‹Ë∑§⁄UáÊ •flœÊ⁄UáÊÊ ∑§Ê ¬Á⁄Uøÿ ŒËÁ¡∞ – 
Introduce the concept of Globalization by Gillpin. 11

2 

9. ¬⁄U-‚¢S∑Î§ÁÃ ª˝„UáÊ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ? 
What do you mean by acculturation ? 11

2 

10. i) ¡Ÿ¡ÊÁÃÿÊ¥ ∑§Ê Á¬¿U«∏UÊ Á„UãŒÍ Á∑§‚Ÿ ∑§„UÊ ?

ii) ∞◊0 ∞Ÿ0 üÊËÁŸflÊ‚ mÊ⁄UÊ ◊Ò‚Í⁄U ◊¥ ‚¢S∑Î§ÁÃ∑§⁄UáÊ ∑§Ê ¬˝ÿÊª Á¡‚ ¡ÊÁÃ ∑§ Á‹∞ Á∑§ÿÊ
ªÿÊ ©U‚∑§Ê ŸÊ◊ Á‹Áπ∞ –

i) Who has considered tribes as Backward Hindu ?

ii) Name the caste of Mysore for whom Sanskritization had been
applied by M. N. Srinivas. 1 + 12  = 11

2 

11. i) Á‡ÊˇÊÊ ∑§Ë •ÊœÈÁŸ∑§Ë∑§⁄UáÊ ◊¥ ÷ÍÁ◊∑§Ê ’ÃÊß∞ –

ii) •ŸÈ‚ÍÁøÃ ¡Ÿ¡ÊÁÃ ◊¥ Á‡ÊˇÊÊ ∑§ •÷Êfl ∑§Ê ◊ÈÅÿ ∑§Ê⁄UáÊ ’ÃÊß∞ –

i) Enumerate the role of education in modernization.

ii) Enumerate the main cause of lack of education in Scheduled
Tribes. 1 + 12  = 11

2 
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12. i) ¡ã◊Œ⁄U ◊¥ flÎÁh ∑§ ÄÿÊ ¬Á⁄UáÊÊ◊ „UÊ¥ª ?

ii) Á„UãŒÍ ÁflflÊ„U •ÁœÁŸÿ◊ ∑§’ ¬ÊÁ⁄UÃ „ÈU•Ê ? 

i) What will be the result of increase in the birth rate ?

ii) When was Hindu Marriage Act passed ? 1 + 2 = 3

13. ““∑§Ê‹¸ ◊ÊÄ‚¸ ∑§ •ŸÈ‚Ê⁄U flª¸ ‚¢ÉÊ·¸ ◊ÊŸfl ‚◊Ê¡ ∑§ ßÁÃ„UÊ‚ ∑§Ë •Á÷√ÿÁQ§ ⁄U„UÊ „ÒU –”” ß‚
∑§ÕŸ ∑§Ë ¬ÈÁc≈U ∑§ËÁ¡∞ –

“According to Karl Marx class struggle has been the expression of

history of mankind.” Verify this statement. 3

14. SÕÊŸËÿ ¬˝÷Èàfl ¡ÊÁÃ ∑§Ê ÄÿÊ ◊„Uàfl „ÒU ?

What is the importance of local dominant caste ? 3

15. ÷Í◊¢«U‹Ë∑§⁄UáÊ ∑§Ê ‚¢øÊ⁄U ‚ÊœŸÊ¥ ¬⁄U ¬˝÷Êfl ’ÃÊß∞ – 

Mention the effect of globalization on the means of communication. 3

16. ¬ÿÊ¸fl⁄UáÊ ÃÕÊ ◊ÊŸfl ‚◊Ê¡ ◊¥ ‚¢’¢œ ’ÃÊß∞ –

Mention the relation between environment and human society. 3

17. ‚¢S∑Î§ÁÃ∑§⁄UáÊ ∑§ ¬˝◊Èπ dÊÃÊ¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –

Clarify the main sources of Sanskritization. 3

18. ‚Ê◊ÊÁ¡∑§ Áflø‹Ÿ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – 

Define Social deviance. 3

19. ÷Ê⁄UÃ ◊¥ ‚¢ÁflœÊŸ ÁŸ◊Ê¸ÃÊ•Ê¥ mÊ⁄UÊ ∑§◊¡Ê⁄U flª¸ ∑§ ©UàÕÊŸ „UÃÈ Á∑§ÿ ªÿ ¬˝ÿàŸÊ¥ ∑§Ë ÁflfløŸÊ
∑§ËÁ¡∞ – 

Discuss the steps taken by the constitution makers in India for

upliftment of weaker sections. 3
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20. ¬⁄Uê¬⁄UÊ •ÊÒ⁄U •ÊœÈÁŸ∑§ÃÊ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ?

What is the difference between tradition and modernity ? 3

21. •ÊÒlÊªË∑§⁄UáÊ ∑§ ŒÈc¬Á⁄UáÊÊ◊ ∑§Ê ⁄UÊ∑§Ÿ ∑§ ©U¬Êÿ ‚¢’¢œË ‚È¤ÊÊfl ŒËÁ¡∞ –

Suggest the measures to prevent ill effects of industrialization. 3

22. ⁄UÊc≈˛UËÿ ∞∑§ÃÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ÷Ê⁄UÃ ∑§ ‚¢Œ÷¸ ◊¥ ⁄UÊc≈˛UËÿ ∞∑§ÃÊ ∑§Ë •Êfl‡ÿ∑§ÃÊ ∑§Ë
ÁflfløŸÊ ∑§ËÁ¡∞ – 

Define national unity. Discuss the need for national unity in the Indian

context. 3 + 2 = 5

23. ’Ê‹üÊ◊ ∑§Ê ‚◊ÊåÃ ∑§⁄UŸ „UÃÈ ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U mÊ⁄UÊ Á∑§ÿ ªÿ ¬˝ÿàŸÊ¥ ∑§Ê ◊ÍÀÿÊ¢∑§Ÿ ∑§ËÁ¡∞ –

Evaluate the efforts done by the Indian Government to eradicate child

labour. 3 + 2 = 5

24. ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ‚ ÄÿÊ ÃÊà¬ÿ¸ „ÒU ? ß‚∑§Ë ¬˝◊Èπ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –

What do you mean by social change ? Discuss its main

characteristics.  2 + 4 = 6

                        


